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ABBREVIATIONS 

CH   = chain 
HCL = hanging cluny 
Clr    = close ring 
CTM = continuous thread method 
ds     = double stitch 
rw     = reverse work 
- = picot 

JR    = Josephine ring 
hp = hairpin 
 
1 shuttle 
1 needle 
1 1 floss threader loop  
 
 
 
HAIRPIN: make lace with  28 loops. Join the one side making the half circle. 
 
See : https://www.youtube.com/watch?v=u6j-fuxuP54 
 
TATTING 
 
FLOWER 
 
1º ROUND 
 
HCL1 = 15 passes (leave a picot in the cluny) +  1* handle =  + to first gathered group of 4 hp 
loops, CH 2 and + to next gathered group of 4 hp loops 
 
HCL2 = 15 passes(leave a picot in the cluny) + 2* handle =  + to next gathered group of 4 hp 

loops, CH 2 and + to next gathered group of 4 hp loops. 
 
Make a total of 7 cluny petals 
 
 
2º ROUND 
 
8 ds + HCL 7 
Ch 1 = 1ds – 1ds – 1ds – 1ds – 1ds – 1ds – 1ds – 1ds + HCL 6 
Ch2  = 1ds – 1ds – 1ds – 1ds – 1ds – 1ds – 1ds – 1ds -+ HCL 5 
Repeat for all petals. 
 
8 ds + 1ª HCL. 
 
STEM 
 
Ch1   = 7 ds  
R1     =  4ds – 4ds Clr. RW 
Ch2   =  4ds 
R2     = 4ds – 4ds Clr. 
Ch3   = 12ds – 6ds 
R3     = 6ds – 6ds Clr. 
R4     = 4ds – 4ds Clr.  Cut and Tie 
JR      = 10ds Clr. 
Ch4   = 18ds + ( - Ch3 ) 
R6     = 6ds – 6ds Clr. Cut and Tie.  



 
  
 
 
 


